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PREVIEW QUESTION BANK(Dual)

Module Name : History
Exam Date : 16-Jun-2023 Batch : 15:00-18:00

Sr. || Client Question . . Negativ
No. D Question Body and Alternatives Marks Marks

Objective Question

11651 The following table shows the income. expenditure and profit percentage of a company for six years from

2017 to 2022. Income and expenditure figures are in Rs. million and the percentage increase in profit percent
in year 2022 in comparison to previous year is 3,1, . Based on the data in the table, answer the questions
33%

that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income Expenduture

Year Profit%
(in Rs. (in Rs.
million) million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 95.76 84 -
2020 113.28 - 20%
2021 133.1 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-") that you are expected to calculate if required.

Expenditure of the company in 2022 is (in Rs. million)

o
©
t=3
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Year-wise details of Income, Expenditure and Profit of a company
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The following table shows the income. expenditure and profit percentage of a company for six years from
2017 to 2022. Income and expenditure figures are in Rs. million and the percentage increase in profit percent
in year 2022 in comparison to previous yearis 331, . Based on the data in the table. answer the questions

Income Expenduture
Year Profit%
(in Rs. (in Rs.
million) million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 05.76 84 -
2020 113.28 - 20%
2021 133.1 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-") that you are expected to calculate if required.

Exoenditure in 2020 is % more than the expenditure in 2017. (round off to two decimal places)

122
. 1.69
7185
. L.45

9 <t 715 arfereeT & oY 2017 S TN 2022 TP B: T & U TH DU D ST, 597 3R A1 WAwd ekid 81 o SR oag & 3@ T
firfera= 4 3 SR yd oy &1 qa-1 & a9 2022 H a1y ufawra 3 uiawd gig ;3';% gl aifeeT § fau T siwsi & sryR WA= g m
AT ¥ IR T '

HUHT & 3T, oY 3R AT $T adR faavor

B B

a¥ o = i ) o (& fhfermT ®) Y%
2017 |103.824 = 12%
2018 |- 838 25%
2019 [95.76 84 .
2020 |113.8 - 20%
2021 [133.1 110 -
2022|1216 - -

fewquft: drfereT # (FATRd - & ®IF W) $© A QW ¢ 1079 SaRIDATIIR AT TUHT B B SUaT g
¥ 2020 g ¥ 2017 F T % 31 B (2 SR RIF ao guf 3@t 1)

122
. 1.69
. 1.83
.1.45
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Objective Question

The following table shows the income, expenditure and profit percentage of a company for six years from

2017 to 2022. Income and expenditure figures are in Rs. million and the percentage increase in profit percent

in year 2022 in comparison to previous year is 4,1,, . Based on the data in the table, answer the questions
337%

that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income Expenduture
Year Profit%
(in Rs. (in Rs.
million) million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 95.76 84 -
2020 113.28 - 20%
2021 133.1 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-") that you are expected to calculate if required.
What is the average expenditure (in Rs. million) of the company for five years from 2018 to 20227

.93.44
. 92.88
. 93.98
. 94.88

= <1 718 aTfereeT I @y 2017 AN 2022 T B AU b (U U U b ST, 07 3R A1 HIARd WaiRid 81 31 SR 009 & 3% <
fifer o § 3R qd au &1 go & o 2022 7 o wfo=ra & wfoRa ofs ;3';% 3| it 3 fEU Y siiwsi & siuR W) A= fdgm
TRl P IR afoid: _

PHUH & 3T, Y 3R ATH BT auaR fgaur

S

af  |omg = faaa ) o (& fafera H) Y%
2017 |103.824 = 12%
2018 |- 838 25%
2019 |95.76 84 e
2020 |[113.28 = 20%
2021 |133.1 110 -
2022|1216 - 3

feuqut: drfereT 7 (RTRd - & R W) $© T W & (079 ATHATIR AT UHT B3 B SHUaT 8|
a¥ 2018 ¥ ay 2022 9P GG AN H HU- BT 31T o (. e §) | e?

1.93.44
2.02.88
3.93.98
4, 94,88
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Objective Question

4 1654 | The following table shows the income, expenditure and profit percentage of a company for six years from

2017 to 2022. Income and expenditure figures are in Rs. million and the percentage increase in profit percent
in year 2022 in comparison to previous yearis 5,1,, . Based on the data in the table, answer the questions

that follow.

Year-wise details of Income. Expenditure and Profit of a company

Income Expenduture

Year Profit%
(in Rs. (in Rs.
million) million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 05.76 84 -
2020 113.28 - 20%
2021 133.1 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-") that you are expected to calculate if required.

What is the approximate percent profit of the company till 2020 taking total expenditure and total income till
the end of 2020 for all the years taken together?

. 18.92%
. 16.47%
. 18.24%
. 17.67%

S O

file:///C:/Users/Administrator/Downloads/31_2B_Live HIS_E/31_2B_Live HIS_E_1-150.html 5/110



6/16/23, 7:28 PM

31 2B Live HIS_E_1-150.html

4 <t 715 anfereeT & o 2017 TN 2022 TP B I & U TP SO B 31, T 3R A1 WG WERid 81 o IR Tg & 3@ <
fifer & & 3R gd a8 o1 go= & o 2022 B @y ufowa & vfowa afs ;3%% 3| i1 3 faU U siiwsi & suR W 14 fggm
TRl & FTR GIfeIe: _

5 1655

U & 3T, Y 3R 1Y T gHaR [3azur

ay | . e ) o (= ffaga o) SIEES
2017 [103.824 = 12%
2018 |- 838 23%
2019 ||95.76 84 N
2020 [113.28 . 20%
2021 (133.1 110

2022 (121.6 _

feuguf: qrfcret 1 (FRfRd - & WM W) T8 OF 9@ & o/ STaFH AR S0 TUHT 63 S U gl

i1 96 1 U W1y ABR ay 2020 B 3id AP P A oY R T 31T W ay 2020 TD HY BT HTHI WI=Td ATH 7 82
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The following table shows the income. expenditure and profit percentage of a company for six years from
2017 to 2022. Income and expenditure figures are in Rs. million and the percentage increase in profit percent
in year 2022 in comparison to previous yearis 331, . Based on the data in the table. answer the questions

that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income Expenduture

Year Profit%
(in Rs. (in Rs.
million) million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 05.76 84 -
2020 113.28 - 20%
2021 133.1 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-") that you are expected to calculate if required.

If the expenditure was increased by 20% i the year 2017 in comparison to the year 2016 and profit
percentage in 2016 was 25% less than the profit percentage in 2017, then what is the income of the
company in 20167 (in Rs. million)

. 83.2020
. 85.6211
. 81.2430
. 84.2025

= <1 715 aTfereeT H @y 2017 T TN 2022 TP B AU o (o0 U U &b ST, Y 3R A1 HIARd WaiRid g1 3 SR o8 & 30 <
fifer o § SR qd 9y o1 go & o 2022 oy wfowa & wfowa ofs _u';nrn 3| difcieT 3 fau e siiwsi & siuR R 4 fggm
TRl & FTR aifoid: _

U B AT, Y 3R ATH BT qHaR fgaur

S

ay  |em . aftma H) o (= ffaaa & SIEE)
2017 |103.824 = 12%
2018 |- 838 25%
2019 [95.76 84 :
2020 |113.28 - 20%
2021 |133.1 110 }
2022 (1216 - -

fewquf: FrfcieT 7 (AR - & ®IH W) $© 7 @ ¢ 579 STaRHaR S0 AT H3- S SUaT gl

afg a9 2016 B a1 5 ¥ 2017 H HUAT BT T 20% ¢ 71 3R a¥ 2017 I Fa1 H @ o= a9 2016 H 25% HH o, A SO
Py 2016 § o0 (&=. fAmA HH s e

. 83.2020
. 85.6211
. 81.2430
. 84.2025
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Objective Question
6 1656 | Which of the following factors affect learning of learners?

A. Family structure

B. Socio-economic status
C. Cultural back-ground
D. Type of school

Choose the correct answer from the options given below:

.A. Cand D only
B and C only
A B.CandD

. D only

FFTIREd # ¥ B A SRS sAlerHadlsll & SHeRH B gHIad $3d 67

A, GIRaRe® a1
B.mﬁﬁ.aﬂ%@rﬁ[
C. Hispids gy
D. [aeimed o1 veR

A f4u T fasedl © 9 98l SR &1 994 Difou:

a =

Lo

1. $ATA. CIRD
2. PaAB 3R C
3.A.B.C3RD
4. %dd D

Al
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A3
A4

Objective Question

71657 1 collabarative learning. from which of the following strategies. listening skill is developed?

. Fish Bowl

. Circle of Voices
. Jigsaw Strategy
. Case Study

e L S =
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1. PR arsd
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Objective Question

8 1658 | \fatch List T with List IT

LISTI LISTII
(Online Tools) (Functions)
A [Edpuzzle I. [Live polling & feedback]
B. Mindmeister II. |[Content Creation
C. |Google Docs | ITI. PMind Mapping
D. Mentimeter IV. |Interactive Videos

Choose the correct answer from the options given below:

1. A-ITL, B-II, C-IV, D-I
2. A-IV, B-IIL, C-1, D-II
3. A-IL B-IV, C-1, D-III
4. A, BIL C-IL D-IV
=il 1 1Y G 11 D1 A Hife
R 1 (3ATTeTs = |Ie) T 1 @)
A [teuad 1 [c1gd HdgH Ud Uidgie
B [ARES Hex 11 [[uaasg A
C. [d sl 111 (A feam
D. [H=<THeY IV, [3=a fehaTe® aifSal

1 f4u e faeedl O O g1 3R &1 944 Hifoll

AL B-I1. C-IV. D-I
. A-IV. B-IIL. C-L. D-II
AL B-IV. C-1. D-III
. A-L B-IIIL C-1L. D-IV

b Lo b —
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Objective Question
9 1659 | portfolio assessment consists of

A. Prohibit collaboration among teachers and students during the assessment process

B. Addressing the students achievements only

C. Engaging the students in assessing their progress and establishing ongoing learning goals
D. Provide students opportunities to reflect upon feeling about learning

E. Link assessment and teaching to learning

Choose the correct answer from the options given below:

1.Band C only
2.Dand E only
.C.D and E only
. A. B and D only

TR Yeaid & S &:
A. eI Hishd1 & SR [R1ai] Uud faenfifal & o9 Seaim &1 iy
B. Bad [qenfial & Sudferd) i e &1
c. faenfifal o et wafa & geaie- & qut IRt SR &l o wifud oA 5 fie @

D. 3fftrm & Feu ¥ yidl R = e & o faenfiat of siaeR vem &
E. Jegich- Ud f&f01 &7 S ¥ ey ST

1= f4U 7Y fasedl § 9 el SR 31 994 Pifog:

S

1. FaaB AR C
2. %d@D AR E
3.%ad C,D ARE
4. HFAA. B 3R D

Al
A2
A3

A4

4

Objective Question

1011660 | Given below are two statements :

Statement I : According to Viygotsky. learning occurs through social interaction and collaboration.
Statement IT : According to Vygotsky. seaffolding invelves providing the student with all of the asnwers and
solutions to a problem.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement I are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II 1s correct.

B
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TR sy RTTUE:

FUA 1 : AT & SRR, S S sraiafhar SR 98a1 & gRI 9ied SidT g
$u:rﬂ%;|r6|4uw°lﬁ? SR, WifesT | faenfial o fosd v & 91t 3T ud 91 ugH 31
M gl

SRR B & el o, - 3T 1Y [debedl § 3 9ad Suga 9Tk D1 98- Bioig:

HYF 13RI EA T Bl
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. FHYF 15! ©. A HYF 11 7Tad g
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3 =

S V)

Al
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Objective Question
11 (1661 Identify the advantages of open ended questions in survey research.

A. Respondents can answer in their own terms
B. They can be quickly administered by the interviewers
C. They allow unusual responses to be derived

Choose the correct answer from the options given below:

. A and B only
B and C only
Aand C only
A Band C

Tdeur e T 3faTY Ul P ATHl B UggH B
A. ITREI 397 W0 & e § SR A Bl
B. d TP RGATAT gRI fTHar T fu o1 Iad §
C. 3 T ITRI & G~ A BT A I B

i fau T fasedl § 9§ Hel 3Tk BT 9g- Do

=

e

1. $aT A IRB
2. %aaB AR C
3. PAAAIARC
4 A.B3RC

Al

A2

A3 5

3
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Objective Question

12 11662 Given below are two statements :

Statement I : Online surveys are very useful because internet users always constitute an unbiased sample of the
population

Statement IT : A convenience sample is one that is simply available to the researcher by virtue of its
accessibility

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement IT is correct.

BIEEERICACURI S

DU - Sﬁa%wﬁwagﬂmﬁﬁ% 1T Sex-ic TaIaal Yad IfY & U fegef ufaesl &
Hufed Hd B

HYA I - gfa wfoesf 98 wfaeel @ S St gava &1 fagivdl & SR Siuddl B WRad J
Warﬂ?ﬂ%l

S HY & Hdie 1, i 3u Y fasbedl § 3 968 Iugad Ik &1 98- Sifeig:

 FYF 1 AR I SH T8I
FYF IR I SH Tad 6
.U [ el &, A P 11 TAd ©
. YT 17Td &, Afh BUT 11 Jel B

b =

S Y]

Al

A2

A3

A4

Objective Question

13 11663 gcientific research is

A, Data driven
B. Replicable
C. Verifiable
D. Subjective

Choose the most appropriate answer from the options given below:

.A. B and C only
.B. Cand D only
. B and D only
A B.CandD

L2 =

Lo
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A, SleT gd1fead
B. 3 Hdig
C. gAg=1g
D. G-y

1 fau ¢ fasedl ® U Ha¥ IUgad SR 199 BIIT:

1. PEAA. B3R C
2.%dd B, C 3R D
3. %AW B 3R D
4.A.B.C3RD

:Al
.AZ
1.‘\3
{\4

Objective Question

1411664 | Which of the following typer of variables would have a true zero point?

1. Nominal
2. Ordinal
3. Interval
4. Ratio
=

ferfad =RT & wpRI H foud arafds = fag ghm

fd

s
. PHYAD

FL I S

Al

A2

A3

A4

Objective Question
15 1665
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According to UGC regulation 2018 on plagiarism. a similarity of 14% would correspond to which of the
following levels of plagiarism?

LVST SO I T =]

s

Hiicide® IR IR fa=afqercra srar SR fafgae 2018 & STER 14% ©1 GH=Udl difeids IRI &
fefaRed TRl o 9 $19-9 TR @1 g

P v

b2 =
b =

b L
¥

Al

A2

A3

A4

Objective Question

16 1666 . a s o
Communication about communication is called -

. Communication narrative
. Communication narrative
. Metacognition

. Metacommunication

AR & SR H TUR &1 91 el oIl 87

=

e

. TR e
SR
AR

o =

=

Al

A2

A3

A4

Objective Question
17 1667
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Condensation symbols in political communication are -

. Dormant

. Evocative

. Weak assumptions
. Escapist

oIS S9R H 999 Udid

B

1. YT EId Bl

2. AEF RSB EA B

3. A syt g E
4. ATl 8 B

Al

A2

A3

A4

Objective Question
18 11668 | Which of the following are the major criticisms of mass media as a cultural industry?
A. Mass media are pro-people.
B. Products of culture industry are standardised.
C. The productions are devoid of aesthetic merit.
D. The culture industry does uniform mass production.
E. Avoids massification of culture.

Choose the correct answer from the options given below:

.A.B. Conly
.B. C.D only
C, I, E ony

.A.D.E only

frfafad ¥ oH-<0 siepfos 3Em & w0 § THEER e 3 wE aareEE 8
A, SRER Hifgar sHamd® 8 €
B. IR fa® S & IdTE IS 1$Hd 8ld 6|
C. FaTeAT § Aledaieds Toi T 311d BiaT 8
D. I @ SN Th M SHSEG &l g
E. S0 & S Teidu 9 a9d1 5|

14 feu e fasedl & @ Ee61 SR &1 99 Sifor:

b =

o

1.Pdd A.B.C
2.%dd B, C.D
3.$dd C,D.E
4. PAdA.D.E

Al
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Objective Question

1971669 | Given below are two statements :

Statement I : The Buddhists argue that reality should be understood as a linguistic construct.
Statement II : In today's context. we can say that reality is a media construet.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement I are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement IT is true.

R eyfiumue:

DU : Gl yHTqaredl &1 do ¢ 1o guref of yrardt AT & =g o wwsn o =fgu
DU I : 3T & e T 50 &g Id & & gurd difsar ot Afiffa g

IWIad PYA & el . Hid fu TU fdbed] T I g1 SR &1 94 Difeiu:

 HYF 1SR 11 EH T E

HYA 1SR GHT S

. PYT 1 TA B, A YT 11 3 B
DY 1 AT B, AP PYT 1 9 B

o =

S V)

Al
A2
A3

A4

4

Objective Question

20 1670 | Given below are two statements -

Statement I : There is an argument that the emergance of television audiences has brought in more
personalised and interactive communication and media culture

Statement IT : Within an integrated communication system. messages do not acquire the elements of
communicability and socialisation.

In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.

ba =

RS
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R FrEfume:

PUTL: UH 9P ¢ o ferfaem grarsi & mme ¥ 31fie feaRe 3R Jaeme I9R aur Hifsan
Tpfa HTIGHIT g B

T 11 : Tl Uplad SR Homrel & iR Fe=i o SaROmdr Sik ITsiie=ol & dw@l $1 346 il gl
IR FYF & 3l 4, - e 7T fdwedi ¥ T T81 SR &1 397 Piforg:

HYF IR IS T g

HYF 1R 1A A B

.Y 19 8. AfpT YT 11 3T B
. PYT I A B, AP YT 1 I B

o =

S V)

Al
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Objective Question

21 1671
1 g @ = 2 i g
A man X, can complete 3 of a job in 5 days and another man Y can complete 5 of the job in 10 days. In how

many days both X & Y tn;gether can complete the job?

—_
a2

[
oo

[
b=
WO =l h | e 0 W oo | W

4.7

Ueb oafad X e ool & %Wﬁsﬁ?ﬁﬁ@ﬁamm%\%ﬁ?gw i Y, P & 2 um i 10 el
& QR PR TP 31 X IR ¥ I e S o1 1 e R T aR wea s

) —
(<] o
WO =1 | 00w oo | w

[¥¥]
L=

$=
-1

Al
A2

A3
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Objective Question

22 1672 | Five years ago the average age of 4 persons A, B, C and D was 45 years. If another person E is included in the

group. then the present average age of all the five persons becomes 49 years. What is the present age of E?

ko —

3. 43 years

4. 48 years
IR Al A, B, ¢ SR D &1 19d 31g uid 99 gd 45 9 1| 7f 99 ¥ Us g1 afdd E Qe fbar
AT &, o Gl Uig il 1 aanE Sy &1 Sid 40 98 g1 Ol | E @1 i 31 fdai g2

45T
.50 @Y
43T
48T

b =

S Y]

fM
fAZ
.A3
A4

Objective Question
23 1673 | Find the number that can replace question mark (7) in the series given below -

-1,0,3, 8,15, 247

35
49
39

4.23

e e

-1,0, 3, 8, 15, 247

[

=

35
40
39
23

b2 =

da Lo

Al

A2
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A3 5

3

Ay

4

Objective Question

24 1674 A student walks 1 km in the east direction, then turns to the south and walks 5 km. Thereafter, he turns to east

and walks 2 km and again turns to north and walks for 9 km. How far is the student from his starting point?

.5 km
. 7km
3. 6km
4. 6.5km

U foernelf gze @1 fa=n 1 {1, =er 8. R 98 afE &1 3R godi g 3R 5 il Tadi g 1 59% 918
o a8 e 31 Gﬁ?ﬁ,@ﬂ%&ﬁizﬁ?ﬁﬂﬂm% SR g7: SR @I 3R gsal ¢ iR 0 .1, Frai g1 o=
TR fdg ¥ faemdl s o g w2

[

5 T,
AR
.6 T,
.6.5 T e

o =

SV

Al
A2
A3

A4

4

Objective Question

25 1675 In a certain coding language
a. MANGO' 1s coded as 4
b. ' BANANA'is coded as 5
c. PEAR' is coded as 3

How MUSKMELON' shall be coded in that language?

to =
[~ - V)

T
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fopeit ey

a. MANGO @1 4 $ & H Heag [l aral g
b. 'BANANA' &1 5 % &1 ¥ eag [pal ol gl
c. PEAR &1 3 & U T Heas a1 arar g

ST UTST B MUSKMELON' 1 &4 $eag 16l e

O
-1 D

I'Al
52
:A3
.A4

Objective Question

26 1676 | Which of the following statements are so related that if one of them is true, the other must be false, even

though both of them can be falge?

A. Some adults are far-sighted

B. No adults are far-sighted

C. All adults are far-sighted

D. Some adults are not far-sighted

Choose the correct answer from the options given below:

1. Aand D only
2. Cand D only
A and B only
.Band C only

FfREd O 9 S ®F 9 &Y= 309 U 53 UoR J6iUd ¢ & afe T 9@ 81 dl 81 3a¥y 7Tad g1,
Tl T ST TTed B 9ed o

A PO TS RANEAdE|
B. B3 1t 75 x-a2if T EId &
c. ot qre Ref e B

D. $& T -2 6T 8l 3

el feu T fadedl § 9§ Il 3R &1 94 Do

=

1. $TTAIRD
2.%ad C IR D
3. %dd A 3R B
4. PadB IR C

Al
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A3

A4

Objective Question

27 1677 | If the statement-"Some trucks are polluting vehicles", is given as true. which of the following statements could

be immediately inferred to be false?

. All trucks are polluting vehicles

. Some frucks are non-polluting vehicles
. Some trucks are not polluting vehicles
. No trucks are polluting vehicles

Onwe

Choose the correct answer from the options given below:

1. C and D only
2.Band C only

. D only

.B. C and D only

4% HUF PG ¢ UgHUI PR dldl ale- gld ¢° I ¢ dl HEAaiad 3 ¥ (- Syl & 7Ted giH &1 gid
ai'iHH Q’|J||4-f|\_T|T'{‘|d’dE%|

A. T TP YU ate B B

B. % TP IR-UGUUGRI aT6- 61d o

C. TV ¢ UgIUIB R a6 TRl gl €1
D. @15 Hi 7% UguUIBR] a18 T8l 81d o

14 AT e fasedl & @ Tl SR o1 99 Sifor:

L

1. ¥adC AR D
2. PaAB 3R C
3.®%ad D

4. $FAB, C IRD

Al

A2

A3

A4

Objective Question
28 1678
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Which of the following statements is equivalent to the following statement- "All philosophers are non-
conservatives?"

. Some philosophers are not conservatives.
. No philosophers are conservatives.

. Some philosophers are conservatives.

. All non-conservatives are philosophers.

ffiEd ¥ 9 SF 91 Hu <qufl qRiFS TR-3iedrd] gid 8 HYF & I 82

L2 =

du Lo

1. PO aRIHS Ffearal Tl 8ld g
2. 1% o affoi Sfeard Adi e €
3. T9 o Ifgardi e g

4. i R-Jfgardl eifFe ga ®

Al
A2
A3
fM

Objective Question

29 1679 | "o one has shown that Mars was not created by the Aliens. Therefore, Mars is actually created by the

Aliens". Which fallacy is involved in the above statement?

1. Red Herring

2. Hasty Generalisation
3. Appeal to Ignorance
4. Begging the Question

‘el = T8 TE1 fqmaman & & Hal 9ig Rufedl gR1 ita el foan a1 o7 | 9, 5 U a’ad o
Ul grR1 A e 81 SWRied sy H FH-ArdS I e

o =

. Y Hebd (IS B
. fG=RT FrH=ie
. SN BT T
TS aY

S V)

Al

A2

A3

A4

Objective Question
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30 11680 | Given below are two statements -

Statement [ : Aristotelian logic is verbalistic.

Statement IT : For the classical Indian school of logic (nyaya) verbal form is not the essence of inference and is
required only to convinee others.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement I are false.
3. Statement I is true but Statement II is false.
4, Statement I 1s false but Statement II is true.

TR PRy

BUA : IR DT q U5 P B

B 11 : YR YA dob-0d (A1) & ol WMfssd &0 S0 &1 IR 781 ¢ R gl of 9991 &
forg &t gt srazg@ar gl g

SR B & il H, Hid 4T T fdebedl § 3 981 SR b1 99+ DITST:

PYF IR I SH TT g

 PYF 1 AR 11 SFT ST B

DY 1T B, AT Y 11 3 B
Y1 A 8, Ah YT 1 T B

S

e

Al

A2

A3

Ad

Objective Question

311681 | Which of the following pairs shows an internet service and its corresponding protocol. correctly matched?

. www - FTP

. E-mail - SMTP

. E-mail - FTP

. File Transfer - SMTP

ffafad ®F-91 37 Sexic Ja1 SR 599 I Wieiaid &1 98l &7 3 gafid axid g2

b =

L

1. 56 S&g S&cq - Uherdt

2. SHY - THUAC!

3. 3-9d - TGt

4. BIsd YR (CHR) - THUAC]

Al

A2

A3
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Ay

4

Objective Question

In the following MS-Excel spreadsheet. you are given a list of 100 customers. Column 'A' represents their
names. 'B' is for customer category. 'C’ for payment category (0 means discounted price and 1 means full
price). D' indicates price that customer pays. The example spreadsheet below is not the actual list and simply
shows different categories.

A B lc o
1 |Customer Name |Customer Category [Payvment Category [Price (Rs.)
2 |Raman Child 0 0
3 |Dinesh Adult 1 5
4 ||Jashan Adult 0 2
101 | Amit Child 0 0

Which of the following formula would indicate the total amount paid by customers who are adults but do not
get discounted price?

1.= SUMIFS (D2 : D101, B, : 101, = Adult, C2 : C101, =1)

2. = SUMIFS (B2 : B101." = Adult", C2 : C101, "=1", 2 : D101)

3.=SUM (D2 : D101)

4.=SUMIFS (D2 : D101, B2 : B101, " = Adult", C2 : €101, "=1")
frfafEd Ms-EXCEL Ssxite § 100 T8@] & gai &l 718 ol WY A H 1. B § uw® 90, ¢ H
AT Aot (0 BT 31 § e Ui BiFd SR 1 T3 3 - I BIHa) IRd 6, ‘D' Hag BHd &l T3 o
ST e A7TdTH Sedl 5| -1 &1 75 Siseiie & 3a1exvl § araide 94 7ol ¢ iR gg =1 $7ordi &
REANGEAGI

A B C D
R e 9 |[FaH A [iEd 3)
2 REE EISEE 0 0
i S g 1 s
P R TS 0 2
101 |3 EISE 0 0

ffifEd & oF-91 92 705 Ie®! aR1 T 1 715 $d 1R Veiid &l & e ge e
PIOd IR T el a1 82

.=SUMIFS (D2 : D101, B2 : 101, = Adult. C2 : C101, =1)
.=SUMIFS (B2 : B101." =Adult", C2 : C101, "=1",D2 : D101)
3.=SUM (D2 :D101)

4. = SUMIFS (D2 : D101, B2 : B101, "= Adult", C2 : C101, "=1")

o =

Al
A2
A3

A4

4

Objective Question
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33 11683 | Given below are two statements :

Statement I : The www is the largest computer network in the world, with millions of computers connected to
each other.

Statement IT : Web pages are stored on web servers, which are always connected to the Internet so that people
can view their pages 24 hours a day.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II 1s correct

R PR

FYA L Www fa%a 1 AIHan HHex Aead ¢ forad aral (i) e
HYT T : 98 FaI 0R 99 Jol SA1ed BId & off 9ad sexie 9 99 o6ld & ali Al 24 °
U o W B

SWRIF DY & Helie . Hiid 3T Y fadedi § 9 96l SR &1 997 DI

TRIISFUE
S a9

&@
%
5

U1 AR 11 A TH |
FHUT1 AR 11 SHT A G|

FYT 1T 5, AT HUT 11 ITT g
FUYT1 AT R, AT HYT I I g

el e

Al
A2
A3
fM

Objective Question

34 1684 Identify the correct order of the words A - D given below to complete the paragraph about internet security.
Tllegal access to a computer system is known as are programs that self-replicate and
are designed to disrupt computer systems. is Wl heLe a user is sent legitimate looking emails; as soon

as the email is opened and the recipient clicks on the embedded link. they are sent to a fake website. Software
that monitors key presses on a user's keyboard. and relays the information back to the person who sent the
software, is known as

A Phishing
B. Hacking
C. Spyware
D. Viruses

Choose the correct answer from the options given below:

1LA.D.B.C
2:BoA, DG
3.B.D.A.C
4. C.D.A.B
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SC WRET S TR A Hd fGU M0 37=3¢ DI RI DR 8 Tl A-D & gl Y BI Ug<H Bifoid:

PR Red § orfigpd Hfymm ot & FI AT - & IR Prgex
firen o afid axd g1 ag & ool U WG 1 9el 3.5 Holl oI 8. w4l 1 5-5a Wiell Sl 3
3R Uraed! fGu T i R [Fae @l € 3= ol deaige 99 301 ST § 1 98 ITedaR, il Yaiad B
D188 WD GGH DI GFHIER BT 5. AR 39 Hfad BI aT0 JF=T TG ST 3 o FroeaaR Jol

Ul g9 DI S gl
A TR
B. efd
C. TEIWR
D. 9O
i fau U fasedl O 9 91 3R &1 94 I

|._J!—‘-
Nwwp
SIS
> > O w
[s"NaNeNe

gl

z.’\l
I'AZ
fA3
:A4

Objective Question

35 1685 | \fateh List T with List IT

LISTI LIST II
5 g (Internet Techinical
(Description) Term)

A [Numerical ID of 32-bit or 128-bit device on the internet I |Virtualization

B. [Unique ID for a network interface card (NIC) I1. IMAC address

c A_n arrangement whereby a user remotely accesses software, hardware, or other resources 111 1P address

[via a browser
D. |The process of running multiple machines on one physical server IV. [Cloud Computing

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-II. D-1
2. A-L B-II. C-IV. D-III
3. A-IL B-II1. C-IV. D-I
4. A-IIL. B-II. C-IV. D-I
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it 1h 1Y Gl 11 D1 e Bifoig
T 11 (3eTC T |
gt 1 (Fraom) =)
A Bere W Ud® fEarsg & o 32 fae sryan 128 fae ot giteisty smsal L %&l—ﬂ?ﬁ?ﬂ:’)
B. Hedd 3230y Bls &g [GIXP Mg el I [Tqudi vy
» Wﬂg&HMHHWHQIwIﬁ}lld\ﬂiﬁHl‘tﬂHHﬂTuﬂd%{{ HECPIE NG ot m |t oza
e e R v (T S 21 (o e
D. |05 YIfde TdR U= 3P H20H1 Bl Gicid S & Wisedl V. [gerss @mrfen

14 AT 7T faeedl & @ 61 SR &1 99 Siford:

1. A-IIL B-IV. C-II. D-1
2. A-L B-II. C-IV. D-III
3. A-IT B-II1. C-IV. D-I
4. A-IIL. B-I1. C-IV. D-I

Al
A2
A3

Ay

4

Objective Question
36 11686 | which among the following are sources of Volatile Organic Compounds (VOCs)?
A. Vehicles
B. Plants
C. Termites
D. Power Plants
E. Bogs

Choose the most appropriate answer from the options given below:

Aand D only

. A. B and D only
.A.B.D and E only
.A.B.C.DandE

I Pafd QIR (VOCs) & Hid (HEaiad § S &H 9 82

A. T
B. UilgH
C. dig®
D. fagga ¥u=

E. aciad

O

1 14U Mg fd odl & ¥ 98 SUgad SR &1 90 BT

1. FaTAARD

2. PaAA. B IRD
3. HAU A, B.D IR E
4.A.B.C.D3RE
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Al

A2

A3

A4

Objective Question

37 ||1687 pH. an important water quality parameter,

. i3 a measure of acidity on water.

. 18 a mesure of basicity in water.

. can have value only upto 10.

. represents the concentration of hydrogen ion.

. whose value '0' (zero) confirms that water is potable.

Mmoo we

Choose the most appropriate answer from the options given below:

A, CandE only
. A. B and D only
. C.D and E only
.B. C and E only

T Hg@yU i TUiadl Wiad 9Ied (pH) :

[

IS Y

A ST H 3Ad ST AT G|

B. 91d § &Rl B AT 5|

C. BT HA 10 % ol IHdl g

D. BIZ Sl 3G &1 H=dl B U&gd HRdl g

E. &1 09 T3 Y (0) S dl T8 P gldl § o oia dH g g

=i fau U fawedl & 9 a8 Sugad SR &1 90 DIV

1. $TAA. C ARE
2. %gAA. B ARD
3.%ga C.D ARE
4. %9 B, C ARE

Al

A2

A3

A4

Objective Question
38 1688
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Given below are two statements :

Statement I : Recycling drastically reduces pressure on landfills and incinerators.

Statement II : Recyeling increases demands for raw resources.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement II are true

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II s true

TR FA R

HYA 1 : TTPUI B aol o DRI-HRTs Tl SR YIS IR 8 a1 3919 B 3= ST 3T g
T 11 : Gh U] BT aoTe § ST ST &1 T 9 5

TRIF DY & felis . Hiid 3T Y fadedi & 3 981 R &1 997 Do

b =

HYF IR IS T §

HYF IR SA A€

 PYT 1T, AT YT 1 ST &
PUYT I II R, AT PYT I T &

o =

S V)

Al
A2
A3
A4

Objective Question
391689 Chlorofluorocarbons (CFCs), important green house gases.
A. are toxic
B. vaporize just below room temperature
C. are flamable
D. are very stable
E. destroy ozone

Choose the most appropriate answer from the options given below:

. A.Band C only
.B. Cand D only
.B.D and E only
.C.D and E only

O
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FIRTRIRIPIE (CFCs), AT U4 g8 14,

A fouE et €1

B. B & argyH 9 = argu § aiftid g1 9di €1
C. sae-iid gid g1

D. 9gd RR EA T

E. 3ol &1 9 Bl 8 |

1 fau ¢ fasedl ® U e IUgad SR 199 BIIT:

1. PEAA. B3R C
2.%dd B, C IR D
3.%dd B, D AR E
4. %EAC, D IARE

Al
A2
A3

Ay

4

Objective Question
40 11690 | Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : In concentrating type solar collector temperature can be raised upto 500°C.

Reason R : In concentrating type solar collector. the magnitudes of collector area and absorber area are
numerically same.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A

. A is correct but R is not correct

. A is not correct but R is correct

1 21 B 13U U §: U SHUBYA (Assertion A) P =0 H [A1Ed 8 ol GIRI 39D PRI (Reason R) B
T H:

3B A : Ghlsd UBR H R YUgS H dI9HH B 500° FEHIS TP g1 bl 8 |

BRUR : blgd UBR & IR U U GUSH & AR ARy &7 & URHI Teere 2P 3 99 gid
gl

IR HYH & 3dld . -iid f3U 7 fdbed] T Y g1 R &1 90+ Hiferd:

da L

 ASRREFTUE AR R AP TEI IS &

A SRRIA T E, A R, A DI 8! AT 6l &
ATITAPAR 3T
ASHIEAPIRIT R

ko =

S V)

Al

A2
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A3

Ay

4

Objective Question

411691 1 the earlier days of higher education in India. the focus was mostly on disciplines of

. Agriculture
. Medicine
3. Arts

4, Law

YR H I=aoR X181 & URINS S1a 3 SAfewi=a: foo foval w e g ma an

b =

L3P
2. Fafeen
3. Fdl
4. fafg

Al
A2
A3

A4

4

Objective Question

4211692 \What were the initiatives during the second five year plan to improve technical education in India?

A. Closure of non-performing engineering colleges
B. Establishment of II'T at Madras
C. Schemes for improvement of existing technical institutions

D. Stipend-based training programme for outstanding students at select technical institutions in the country
E. Plan to establish a central institute for printing technology.

Choose the correct answer from the options given below:

.A.B. Conly
.A.C.D only
.A.B.E only
SBLETE, Biohly

O
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YRA T do-io! 161 & GUR S & o g cita daadifa T & SRE F1-901 984 &1 T 41

A, TRfAweeR] sifafar ol & §g o)

B. HEIN T 3115, 3175, ¢1. BT R

C. AINE] aeHie! SR & YR B Ao |

D. 3 1 gf-ie a@-ie! Il § eard SopP B & o1y SEgh URIEw Srimy suid|
E. G0 WEifies! & fou e SRi AIfid &4 &1 arer

1= 4T U fa gl § 9 el SR 31 994 Pifog:

1.%ad A. B, C
2. HAdAA.C.D
3. $dd A B.E
4.%dd B,C.D.E

Al
A2
A3

A4

4

Objective Question

43 1693 | Given below are two statements :

Statement I : The idea of abolition of regulatory bodies of education like UGC, AICIE and NCTE is based on
the assumption that such multiple bodes are redundant.

Statement IT : The Bar Council of India has opposed the idea of abolition of regulatory bodies as it would
affect its role as the apex regulatory body of legal professionals in India

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.

TR AR

T 1 : GO, oM. A1 3 SR LA 2. 59 Rien & Fame Meml & 3 91 fdaR 59 s@yron
TR 3R § o T a5 Fopra siawa |

DY II : TR PRI HB 51541 A Fame Herl &1 3 S & [d9R &1 faR1y & ¥ wife

T YR ¥ fafqy sHaaniye! ®f Wi Hame Mo & 9 1 396! YD )R iddd YHE ToT|
TRIF DY & el H, 7 3T Y fadedi & 9 961 IR BT 997 DI

PUF AR I SH TT )

L PUA1 AR 1S 3T 7|

. PYT 1A 8, AP FYT 11 3 B
YT T B, AP PUT 1 T B

o =

S V)

Al

A2
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A3 5

3

Ay

4

Objective Question

441694 ' Atwhich of the following ancient place of higher learning did the famous royal physician Jivaka. who had

cured the king Bimbisara study?

1. Takshashila

2. Kanchi

3. Jayender Vihar

4. Vallabhi

fefafEd O O food Ui I=ar Reun SR 4 uliig wigl e g, fSa- gure f[eear &1
JUER fobar 1, = e ure &1 4o

ARSI
]|

. SR fdBR
. aeat

W b

Al
A2
A3
A4

Objective Question

45 11695 yho among the following enunciated a new policy on agriculture and created a central institute at Pusa?

. Loard Ripon
. Lord Lensdowne
. Lord Curzon
. Lord Linlithgow

foad o ¥ ope Y R U 2 i uiauiicd &1 ok g & i I &1 (i fean
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Objective Question

46 11696 | Read the passage and answer the questions that follow:

Earlier this week, European Union (EU) lawmakers laid the groundwork for the rollout of its proposed
carbon border adjustment mechanism from 2026. Essentially a carbon border tax, it is shrouded in green
principles of pricing carbon, reducing emissions and preventing carbon leakage to combat global warming.
But in reality it is nothing but a tax against emerging economies like India exporting to the EU. Trure, the
European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and seeks
to withdraw free carbon allowances for its most polluting mdustries. However, by targetting imports of
carbon-intensive goods such as aluminium. steel, cement, fertilisers and electricity it is imposing European
emission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate
action. The rich countries of the global north bear historic responsibility for global warming. But after having
achieved a high standard of living through centuries of polluting mdustries, they now want to slam the
development door shut on the rest of the world. Further exemplifying this hypoerisy is the fact that when the
Ukraine war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus, rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing
nations transition to low-carbon pathways. Thus, India is right to object to the EU carbon tax. It should
prepare retaliatory measures, including taking the matter to World Trade Organization (WTQ) and flagging it
as a non-tariff barrier.

European union's carbon border tax will come mto effect.

. From 2030

. Immediatley

. After a decade
. From 2026
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Objective Question

47 1697 | Read the passage and answer the questions that follow:

Earlier this week, European Union (EU) lawmakers laid the groundwork for the rollout of its proposed
carbon border adjustment mechanism from 2026. Essentially a carbon border tax, it is shrouded in green
principles of pricing carbon, reducing emissions and preventing carbon leakage to combat global warming.
But in reality it is nothing but a tax against emerging economies like India exporting to the EU. Trure, the
European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and seeks
to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of
carbon-intensive goods such as aluminium, steel, cement, fertilisers and electricity it is imposing European
emission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate
action. The rich countries of the global north bear historic responsibility for global warming. But after having
achieved a high standard of living through centuries of polluting industries, they now want to slam the
development door shut on the rest of the world. Further exemplifying this hypocrisy is the fact that when the
Ukraine war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus, rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing
nations transition to low-carbon pathways. Thus, India is right to object to the EU carbon tax. It should
prepare retaliatory measures. including taking the matter to World Trade Organization (WTO) and flagging it
as a non-tariff barrier.

The amlitions climate targets of the European bloc aim to

A. Withdraw free corbon allowances for its most polluting industries
B. Reduce emessions

C. Prevent carbon leakage

D. Use coal when energy prices rise

Choose the correct answer from the options given below:

.A. B and D only
.Band C only
. C and D only
. A, B and C only

O
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Read the passage and answer the questions that follow:

Earlier this week, European Union (EU) lawmakers laid the groundwork for the rollout of its proposed
carbon border adjustment mechanism from 2026. Essentially a carbon border tax, it is shrouded in green
principles of pricing carbon, reducing emissions and preventing carbon leakage to combat global warming.
But in reality it is nothing but a tax against emerging economies like India exporting to the EU. Trure, the
European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and seeks
to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of
carbon-intensive goods such as aluminium. steel, cement, fertilisers and electricity it is imposing European
emission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of mternational climate
action. The rich countries of the global north bear historic responsibility for global warming. But after having
achieved a high standard of living through centuries of polluting mdustries, they now want to slam the
development door shut on the rest of the world. Further exemplifying this hypocrisy is the fact that when the
Ukraine war pushed up energy prices last year. EU nations had no qualms falling back on dirty coal.

Plus, rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing
nations transition to low-carbon pathways. Thus, India is right to object to the EU carbon tax. It should
prepare retaliatory measures, including taking the matter to World Trade Organization (WTO) and flagging it
as a non-tariff barrier.

Given below are two statements :

Statement I : The European block secks to impose European emission standards on emerging economics
Statement II : Rich nations are helping the developing nations transition to low-carbon pathways through
climate funding.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.
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Objective Question

49 11699 | Read the passage and answer the questions that follow:

Earlier this week, European Union (EU) lawmakers laid the groundwork for the rollout of its proposed
carbon border adjustment mechanism from 2026. Essentially a carbon border tax, it is shrouded in green
principles of pricing carbon, reducing emissions and preventing carbon leakage to combat global warming.
But in reality it is nothing but a tax against emerging economies like India exporting to the EU. Trure, the
European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and seeks
to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of
carbon-intensive goods such as aluminium, steel, cement, fertilisers and electricity it is imposing European
emission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate
action. The rich countries of the global north bear historic responsibility for global warming. But after having
achieved a high standard of living through centuries of polluting industries, they now want to slam the
development door shut on the rest of the world. Further exemplifying this hypocrisy is the fact that when the
Ukraine war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus, rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing
nations transition to low-carbon pathways. Thus, India is right to object to the EU carbon tax. It should
prepare retaliatory measures. including taking the matter to World Trade Organization (WTO) and flagging it
as a non-tariff barrier.

The following exemplify the hypoerisy of the European Union's imposition of carbon tax

A. Rich countries of the global north have achieved a high standard of living through centuries of polluting
industries.

B. Rich countries now wish to hamper the development of the emerging economies.

C. Rich countries violate the principle of common but differentiated responsibilities of mternational climate
action.

D. Rich countries are not imposing European emission standards on emerging economies.

Choose the correct answer from the options given below:

. A and B only

.A. B and D only
. B, C and D only
. A. B and C only
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Read the passage and answer the questions that follow:

Earlier this week, European Union (EU) lawmakers laid the groundwork for the rollout of its proposed
carbon border adjustment mechanism from 2026. Essentially a carbon border tax, it is shrouded in green
principles of pricing carbon, reducing emissions and preventing carbon leakage to combat global warming.
But in reality it is nothing but a tax against emerging economies like India exporting to the EU. Trure, the
European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and seeks
to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of
carbon-intensive goods such as aluminium. steel, cement, fertilisers and electricity it is imposing European
emission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of mternational climate
action. The rich countries of the global north bear historic responsibility for global warming. But after having
achieved a high standard of living through centuries of polluting mdustries, they now want to slam the
development door shut on the rest of the world. Further exemplifying this hypocrisy is the fact that when the
Ukraine war pushed up energy prices last year. EU nations had no qualms falling back on dirty coal.

Plus, rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing
nations transition to low-carbon pathways. Thus, India is right to object to the EU carbon tax. It should
prepare retaliatory measures, including taking the matter to World Trade Organization (WTO) and flagging it
as a non-tariff barrier.

India is right to object to the European Carbon tax because

A. Tt will affect its economic growth

B. India is not concerned about global warming

C. Rich nations have yet to molize $ 100 billion for climate funding to help developing countries transition
to low-carbon pathways

D. Rich countries of the global north bear historic responsibility for global warming

Choose the correct answer from the options given below:

. B and C only
. A and D only
. A, Cand D only
.A. B and D only

S S
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Objective Question

51 1906501 Kaiyata wrote a commentary on which one of the following text.

1. Mahabhashya
2. Ashtadhyayi

3. Nirukta

4. Chatuhsatika
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